—2ax*y? + xy - 3

@ o] B5F 3742 o]Fo|zl Aojtt,
@ xofl et WAooz A= :
@ yof tigt WAz o2 F2fd 4ol
@ x of g axpA ot}

® xy o] A= 10]th



U A A, Bl Histe] A - BE F51H?

A =2y? + x? = 3xy, B = —4x? - 2xy + 5y°

® 5x% - 2xy + 3y? @ 5x% - xy - 3y?
® 5x2 + xy + 3y? @ 5x% + 2xy — 3y?

® 5x% + 3xy +3y?



ohe A ARG o, T2

(4xt =5x3 4+ 3x2 —dx+ 1)+ (x> —x+ 1)

@ 4x2-3x+2 @ 4x2-x-2 @ 4x2-2x+1

@ —4x2-x-2 ® —4x2+x-2




4. (a-b+c)a—-b-c)S AANFA?

® -a®>+b>-c®+2ca @ a®-b%>+c%+2ab
@ a4 b% + 2 + abe @ a?-b%-c2+ 2

® a®+b%-c%-2ab



x 9 ol TAIGlol 54 x% + 13x - 18 = a(x + 2)(x — 3) + bx(x +
2) +ex(x=3) ol P AL W, A a.b,c T Fa+b+c o =
o1 ?

@1 @ 3 ® 6 @ 9 ® 12






T &
Ju -
~
M
BWM
<o
T
¥ o
e_aq
= .
+ 7
2x,0|
0N
+ 4+
o, =
55
__1__/|
< X
CURCE
o
‘.Dl_l]_,
ey —
__OLO
T o~
= +
‘qx
= N

@ x24+x+2 @ x2-x+2

D x2+2x+2

® x2-3x+2

@ x2-2x+2



the 12 9] AF2HY AGHE, AH2Ha EFCD = E

A ZVP 0], AD = a, AB = » A0, A2+

GBFH 9] §lo]=? G
B—

® a® - 2ab - b? @ a® + 3b* - 2ab

® -a*+ 3ab - 2b* @ -a? + 3ab - b?

® -a® + 2ab - b?



ol
LSS

m
_

Nfo
S
!
_
i~
o

Ho

=
Ho
ojn

¥ +y?+1-2xy-2x—2y

D (x-y-1)2

=a* - 2a%b® + b*

@ (a+b)*(a-b)?

@ (—x+3)3=x%-9x% +27x - 27

a® - b3

@ (a-b)(a®+ ab-b?)

@ (p-D)P*+H(P*+1)=p°-1



10.  (2x3 = 3x2 4+ 3x + 4)(3x? + 2x3 — 2x% — Tx + 8) = T Ao A &3
o] Ag?

@ 31 @ 33 ® 35 @ 37 ® 39



2x+1_ a n bx+c
B-1 x-1 x24+x+1
A teSa, b, cEFE W, a+ b+ AF27

11. 7F x # 19 B5F AL xof ool 4

@ 2 @ -2 ®1 @ -1 ® 0



12, A+ ax+ b7k B 2 - x4 12 o] Hol A g 45
a+ b e Ftolet.

D
=%



ol

ol
oT
oA

H

® 1024

@ 16 ® 32 @ 64

ON



14. ¥*-2x"+a7Fx+3 2 Upo] oA & 4 a 9 gk 5tofet

B



15. o3 ax® +bx%2 -4 7} x%2 + x - 22 o] QoA
o, a®} b o] 5 FoHH?

@1 @ 2 ® 3 @ 4

Jpu
&

S
o
o



, 2A + BE T-5h= Aol A

24 + B = 2(a + 2b) + (2a + 3b)

= (2a + 4b) + (2a + 3b) @ EujHZ]
=2a+ (4b+2a) +3b © BEHZ
=2a+ (2a+4b) +3b © W2HHZ
= (2a + 2a) + (4b + 3b) @ LT
= (242)a+ (4+3)p @ ®HHF

=4a+7b




17, (10° 4 2)° €] 2t A2l ] 5:72] g Topoier.

® 15 @ 18 B3 21 @ 26 ® 28



18. the FolM AHol7} 22, mE mAEle] Zole] Fol 249 A KA
th2t ] Zoli?

@ Vi1 @ vi2
® Vi3 @ V14

® $9514 gt



- 1
19. »#*-x+1=0¢% 'Iﬂ,x"-i-fsg] P4
X

O -2 @ -1 ® 0

9



T

S

of, A4 a, bl o

xoll TA L]

b
a

20.

[e]

?

o] gk

L

@ 2 @ 3 @ 4 ® 5

1



21.

A=Y
o

(2k+ 1)y — (k+3)x+ 10 = 0 °] k] gtoll TAIGle] T/ ™

SHE & oF= Al x,y of] ot x + y o] #H2?

@ 5

@ 6 ®7 @ 8 ®9



22, xofl et A2 x° 4 ax® + bx+3°] #* + 1= HroHo| of,

a, b & Hotw?

D a=-1,b=3
@ a=3,b=-1

®a=3,b=1

@ a=1,b=3

@ a=-3,b=-1

&

2~
e



23.

T x

o

o] g}At AJ=sk

@® 1023

Stof (14+2x-x%)10 = ag+ayx+agx®+--- - - +az0x
w, 2ag +ay +az + -+ + ago 2] F2?

@ 1024 ® 1025 @ 2046 ® 2050



24. oA f(x) = x> = 3x% + kx - 6°] Q4] x - 2E Yiro|HolAd uf,
f()E x- 12 Yie Y2 =?

@® -3 @ -1 ® 2 @ 4 ® 5



25. 494 rwel sl 7(1) =5 (L) 19w rw e

(2x - 1) (3x — 1) 2 e YA S LA Q.

> L
=%



fE - x2EUFH3O YL 2 +x-62 UYFH x -1
i, f(x) & x* - 3x 4+ 22 Wz W] YA E R(x) 2H & ],
SEEEER

@ 2 ® 3 @ -2 ® -3



27, X 4x+1ex+1EUHE 2 0L S, 9(x) S x-1% e
U 2]E Fstofzt.

D
=%



28. T4 f(x)E LA ax + bla # 0) S 2 HFAS T2 58 0(x),
Ul Rol} @ ),
xf(x)E ax + b2 Y= YHA|E F5HH?

® R @ aR 3 bR @_SR ©§



x+1=
a

=
=

X3 4+ax®+bx+1
Vs

Al
A
7}

@ b=2 @ c=-1

Da=3

® k=-1

@ d=-3



©9

abed 2 7k

oL
H

Fe 4% ab.e.d 9

=7
=0

s

® 5 @ 10 ® 18

@0



